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A (AN) (%) B (A) B/Ax100 (%) C (N) C/A%100 (%) D (N) D/A%100 (%) (A) (%)
b i B 40,855 -1,629 -3.8 18,576 -326 45.5 -1.7 8,886 —424 21.8 —4.6 9,585 -493 23.5 —4.9 b v B 40,346 —642 -1.6
= 7 11,717 —377 -3.1 5,498 109 46.9 2.0 1,677 —150 14. 3 8.2 3,687 —182 31.5 4.7 |F A 11,399 —244 —2.1
el + 11,160 —-398 -3.4 4,976 —60 44.6 —-1.2 2,108 95 18.9 4.7 3,204 —-280 28. 7 -8.0 |& = 11,220 2 0.0
= I 19,712 —-94 -0.5 9,719 —36 49.3 —0.4 S, 21 90 16. 3 2.9 4,554 -93 23. 1 2.0 |= B | 19,482 —86 0.4
K H 8,313 —211 2.5 3,769 -89 45.3 2.3 1,407 -39 16.9 2.7 2,488 —105 29.9 —4.0 |3 H 7,931 =353 —4.3
(i iz 9,943 —130 -1.3 4,501 —65 45.3 -1.4 1,729 —130 17.4 7.0 2,994 103 30.1 3.6 I % 10,071 99 1.0
i = 16,967 —-640 -3.6 7,862 —177 46. 3 —2. 2 2,900 -414 17. 1 —12.5 4,929 —59 29. 1 —-1.2 | =] 16,852 —118 —0.7
x A 25,647 363 1.4 12,973 189 50. 6 1.5 4,542 -31 17.7 0.7 5,496 32 21.4 0.6 & E 25,155 —455 -1.8
i A 17,139 —354 -2.0 8,999 —67 52.5 -0.7 2,943 -102 17.2 -3.3 3,903 —50 22.8 —1.3 Wi S 17.421 216 1.3
HE 55 17,071 15 0.1 8,863 —42 51.9 —0.5 3,168 —17 18.6 —0.5 3423 56 20. 1 1.7 |#e 55 16,916 —124 -0.7
B ES 56,970 -292 -0.5 32,572 —417 57.2 -1.3 9,679 135 17.0 1.4 7,811 —262 13.7 -3.2 |55 B 56,780 —29 —0.1
T 3 49,149 -181 -0.4 27,382 -84 55.7 —0.3 8,828 62 18.0 0.7 6,503 -307 13.2 —4.5 |F 3 49,082 —266 —0.5
K Iy 101,782 —544 -0.5 65,863 —1,592 64.7 -2.4 11,996 —44 11.8 —0.4 6,570 —279 6.5 —4. 1 PR s 101,249 48 0.0
&R 66,244 -156 -0.2 40,395 -308 61.0 —0.8 10,601 67 16.0 0.6 5567 -118 8.4 —2.1 I & I 66,979 450 0.7
i i 18,890 -537 -2.8 8,763 -36 46. 4 -0.4 4,860 -293 25. 7 —5.7 3,688 -199 19.5 —5. 1 T i 18,402 —377 —2.0
& (L 9,195 80 0.9 4,770 10 51.9 0.2 1,544 —6 16. 8 —0.4 2,017 —-17 21.9 0.8 |& [ 9,035 —46 -0.5
zel )] 10,357 -193 -1.8 5,702 —37 55.1 0.6 1,385 —43 13.4 -3.0 2,200 —145 21.2 6.2 | JI 10,498 78 0.7
i H 7,365 -199 2.6 4,183 44 56. 8 -1.0 1,092 —29 14. 8 —2.6 1,602 —137 21.8 —7.9 |f& It 7,021 —208 2.9
(L A 8,341 112 1.4 4,770 85 57.2 1.8 1,353 —88 16. 2 —6.1 1,387 15 16.6 1.1 i A 8,020 —346 —4.1
pis 2 18,844 —94 -0.3 8,996 -98 47.7 -1.1 3,968 24 21.1 0.6 3,543 38 18. 8 L1k e 18,425 —343 —1.8
[ iR 18,240 —-139 -0.8 10,121 —158 55.5 -1.5 2,466 47 13.5 1.9 4,284 -16 23.5 —0.4 s e 18,112 —12 —0.1
it [if] 32,434 —391 —-1.2 17,176 —188 53.0 —1.1 5,584 —56 17.2 -1.0 7,203 —74 22.2 —1.0 |&F lif] 32,278 —37 —0.1
% pal 64,684 -520 -0.8 37,655 —73 58.2 —0.2 8,045 —167 12. 4 —2.0 12,618 —78 19.5 0.6 |& pal 64,499 —154 —0.2
— = 15,695 -517 -3.2 7,937 -315 50. 6 3.8 2,279 —152 14. 5 6.3 4,291 —58 27.3 -1.3 | = E 16,081 30 0.2
% ié? 12,701 -183 -1.4 6,940 -266 54.6 -3.7 2,129 —42 16.8 -1.9 2,329 81 18. 3 3.6 i = 12,610 —62 -0.5
iy L 23,074 -406 -1.7 15,201 -346 65.9 —2.2 3,162 —55 13.7 -1.7 1,958 -94 8.5 —4.6 B 23,320 192 0.8
AN 73 75,100 —758 -1.0 44,653 —639 59.5 -1.4 10,978 —432 14.6 -3.8 8,709 —223 11.6 —2.5 Ik B 74,099 1,341 -1.8
i J 46,333 —868 -1.8 28,086 —565 60. 6 2.0 6,123 —476 13.2 -7.2 6,501 —58 14.0 —0.9 I JiE 45,637 —408 -0.9
= =3 11,983 -78 -0.6 6,972 -110 58. 2 -1.6 1,697 27 14.2 -1.6 1,394 -10 11.6 —0.7 I= =5 11,500 —527 —4.4
il 8,793 -193 -2.1 4,201 -187 47.8 —4.3 1,580 78 18.0 5.2 2,033 ~17 23. 1 -0.8 IFn &k |l 8,698 -102 -1.2
5 HY 4,988 107 2.2 2,166 102 43.4 4.9 859 —81 17.2 8.6 1,267 39 25.4 3.2 15 H 4,865 —-35 —0.7
5 it 6,051 6 0.1 2,828 57 46.7 2.1 1,208 —124 20. 0 9.8 1,423 25 23.5 1.8 |5 AR 6,088 6 0.1
fif] (i 17,178 —-984 -3.3 8,760 —242 51.0 —2.7 2,795 —264 16. 3 8.6 3,994 -90 23.3 —2. 2 |l [ 17,445 316 1.8
I 5 23,225 —959 -2.3 14,085 —357 60. 6 —2.5 2,576 —231 11.1 8.2 3,580 53 15.4 1.5 & 5 23,399 —8 -0.0
(i H 11,291 -30 -0.3 4,976 56 44.1 1.1 1,869 10 16. 6 0.5 3,342 —97 29. 6 2.8 |l H 11,006 —281 =2uld
8 = 6,263 -180 2.8 3,259 -163 52.0 —4.8 1,065 =8 17.0 0.3 1,426 —49 22. 8 —3.3 |il 5 6,331 74 1.2
" )1 8,611 —91 -0.6 4,491 16 52.2 0.4 1,277 —63 14. 8 4.7 1,579 —-35 18. 3 —2.2 |& JI 8,699 45 0.5
5= S 11,103 —377 -3.3 5,961 —86 53.7 —-1.4 2,100 —83 18.9 —3.8 2,498 -169 22.5 6.3 | B 11,181 19 0.2
5 pal 6,151 70 1.2 3,033 155 49. 3 5.4 1,038 —34 16. 9 = 1,053 —-30 17. 1 -2.8 | Pl 6,020 —-25 —0.4
i fif] 41,586 —849 -2.0 22,231 -789 53.5 -3.4 7,037 150 16.9 2.2 7,646 67 18.4 0.9 &= ] 41,897 328 0.8
e . 8,051 —55 -0.7 3,598 35 44.7 1.0 1,249 24 15.5 2.0 2,608 —47 32.4 —1.8 = 7 8,155 46 0.6
P [ 12,739 -238 -1.8 5,738 65 45.0 1.1 2,034 —201 16.0 9.0 3,784 -114 29.7 2.9 |F [53 12,273 —414 -3.3
RE N 15,405 -217 -1.4 7,217 -119 46. 8 -1.6 2,656 -113 17.2 4.1 3,957 —81 25.7 —2.0 e A 15,585 5 0.3
N 5y 10,083 -19 -0.2 4,826 54 47.9 1.1 1,957 -109 19.4 -5.3 2,617 —27 26. 0 -1.0 K g2 10,020 —49 —0.5
= 53 9,990 —339 -3.3 4,592 —52 46.0 —1.1 1,636 —20 16. 4 -1.2 2,826 —205 28. 3 —6.8 |= [53 10,183 133 1.3
e 2 14,489 -2176 -1.9 6,405 30 44. 2 0.5 2,739 —234 18.9 -7.9 3875 —69 26. 7 LT RS 14,732 200 1.4
it #H 14,573 -34 —0.2 5,789 15 39.7 0.3 3,576 —82 24.5 —2.2 2,330 -125 16.0 —5. 1 | | 14,750 —165 —1.1
s | 1056475 —-13,093 —-1.2 578,029 7,155 54.7 1.2 169,599 4,077 16. 1 =2 & 186,276] -3, 983 17.6 2.1 ] 1,051,743 —4,922 -0.5
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